


Calculo mental 3

Practica el calculo metal: En el recuadro a la derecha responde la operacion de la izquierda

(-3) (-7) [1x8=48
85+ 5 9.3x10
-4+ 3 60 + 15

45 + 15 123

3
%de 24 100 = 20
(9.2)(0.1) 27 + 35
30% de 90 (0.8)(50)
(12)(4) 9:x9
8+;=15 [0X10=22
7x 4 45-10
-2 49 14-[]=5
50% de20 % de 40
(-5)(7) (0.9)(7)
23 25% 200
3+2x 15 -8+5
Ede 48 Ede 42
8 6
10-3 92
5x9 48 + 8
2
3 de 45 28 =1
36 + 3 17+5
4x4 (0.8) (70)
2 3
7 de 21 3 de 64
52 20 + (-5)
7+8x8 8 x 4+9
11+ 19 10% 148
21-;=6 BEx 64




